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[0 O O Among the early Greeksl] Aristotle was1t0 watch living
things and t0 try to classifY them[ to attempt to find out2life begins
[1 and to write down his observationd His methods* work with the
catfish ale typical3his procedures] He spent hour4hour al the stern
of a small boat5the coast of Lesbos t)n the Aegean Sea leaning far
out6the cleard shallow water(] looking down at a catfish that7its
eggs among the reedsl] 8he watchedJ he held his boat steadywith a
strong pole9it would not float awayL] Later he made a record ol1 Ohe
halt seen] Soday’ after day from the stern Of his small boat near
the shorel] Aristotle watched the life Of the underwater world11itself
[1 Everyonel2fish beforel] and the fishermen knew something about
their habits[J 13this knowledge helped them t0 get a bigger catch

[1 But until then14had watched the ways Of fish15the single purpose
of trying to undemtand them[J Avristotle thought that16he observed
each living thing carefully enough and recorded what he sawl] he
would come closer 17 lifelJ He had great patience and extraordinary



powers Of observation[] and18 these two essential qualities he had an
imagination which19it possible for him t020what he sawl] 1[1 ALl a
manBL] a scientistCLI firstDLI the first 200 AL whatBL whichC

[ howDO that 30J Al 0fBL forCL inDU from 400 Al bvB0 tOC
[ fromD0 after 51 Al offBLJ inCL tODO with 600 ALl inB

[J underCO overDO by 700 Al 1laidBLI was lyingC liedDO was
laying 811 ALJ IfBL] ThoughCL AsDLI Since 901 Al thatB[I so
thatCLJ whichDUO so as to 1000 AJ whatBLl thatCLJ whichD

[J when 110 AL to revealBLI to be revealingCLI revealedD

[ revealing 1201 ALl sawB[I have seenCL] has seenDL] had seen 13
1 AL forB withCO inDL about 140 ALJ oneBL not oneCLI no
oneDU man 1500 Al forBJ withCLO because of DL in 1601 A

[1 whetherBL ifCO whenDUO as 1700 Al to be understoodBL] t0 an
understanding C0 to an understanding ofDL] understand 1801 A

[1 exceptBL] except forCL besideDLI besides 1901 ALl thoughtB

[J madeCLJ consideredDUI caused 2000 ALl interpretBL] translateC
[1 declareD0] pronounce (I U O 0O O 10 DO 200 CO 301 AL 4

O DOSO A6 c 70 DO 8 CO 90 BO 1000 ALl 1100 DO 12
0 DO 130 A 140 CO 150 AO 1600 BO 1700 CO 1801 DO 19
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